
ACS-4

B

  1.0  PUT ALL LOOSE HARDWARE IN POLYBAGS AS NEEDEED.

HA
ND

BO
OK

,T
EC

HN
IC

AL
 D

RA
W

IN
GS

,

C

111111111222222222333333333444444444

111111111222222222333333333444444444

AAAAAAAAA

BBBBBBBBB

CCCCCCCCC

DDDDDDDDD DDDDDDDDD

CCCCCCCCC

AAAAAAAAA

BBBBB

08/19/15

08/19/15

BBB

NOTES:

  2.0  PLACE DRAWING INTO BOX.

lbs/in³
lbs

in³
in²

±

2.58

1 OF 2WIDTH
LENGTH
HEIGHT

24.11VOLUME RE
AD
RV
RW

COMMSCOPE, INC. OF NORTH CAROLINA

TP

B

RJC

8000013755

 
DENSITY

MASS
0.11

VO
LU

ME
S 

1 &
 2,

 T
HI

RD
 E

DI
TI

ON
 (2

00
2)

CE

WORK AREA
ECN

DRAWING SHEETMODEL

SCALE

SIZE

ANGLES
X ±
.X ±

.XX ±

MATERIAL

C

2 PLACE
1 PLACE
0 PLACE

REVISION

TOLERANCES

STATUSVERSION REVISIONSTATUSVERSION

DOCUMENT NO.

1:2

FINISH

ACS-4

SURFACE AREA

TITLENAME DATE

SAP MATERIAL MASTER

2015 CommScope, Inc. Confidential

GALV A123 A36

ANTENNA CABLE SUPPORT 4 HOLE

.25

.12
.06

UN
LE

SS
 O

TH
ER

W
IS

E 
SP

EC
IFI

ED
DI

ME
NS

IO
NS

 A
RE

 IN
 M

ILL
IM

ET
ER

S
IN

TE
RP

RE
T 

PE
R 

IS
O 

ST
AN

DA
RD

S

2

REVISIONS

REV. ECN DESCRIPTION BY DATE

A 8000009882 INITIAL RELEASE RJC 08/24/15

B 8000013755 CHG BOM CEB 4/26/2016

ITEM PART NO. DESCRIPTION QTY. WEIGHT NOTE NO.
1 BXGB1 BOX KRAFT:14.50 X 4.5 X 2.25 (EA) 1 0.09 LBS
2 HC152210 UNIVERSAL BAND CLAMP 1 0.08 LBS
3 MTC3777B01 BRACKET 1 0.48 LBS
4 MT-377 3/8" X 12" GALV THREADED ROD 1 0.37 LBS
5 WBT123.02 12" HORIZONTAL TRAPEZE SECTION 1 1.46 LBS
6 ACS4HB1 HARDWARE BAG FOR ACS-4 1 0.10 LBS
7 DOCUMENT RECORD INSERT DRAWING ACS-4 INTO BOX 1 - 2

B



ITEM PART NO. DESCRIPTION QTY. WEIGHT NOTE NO.
1 HC152210 UNIVERSAL BAND CLAMP 1 0.08 LBS
2 MTC3777B01 BRACKET 1 0.48 LBS
3 MT-377 3/8" X 12" GALV THREADED ROD 1 0.37 LBS
4 WBT123.02 12" HORIZONTAL TRAPEZE SECTION 1 1.46 LBS
5 GN-03 3/8" GALV HEX NUT 4 0.02 LBS
6 GWL-03 3/8" GALV LOCK WASHER 2 0.01 LBS

111111111222222222333333333444444444

111111111222222222333333333444444444

AAAAAAAAA

BBBBBBBBB

CCCCCCCCC

DDDDDDDDD DDDDDDDDD

CCCCCCCCC

AAAAAAAAA

BBBBBBBBB

NOTES:

2 OF 2

COMMSCOPE, INC. OF NORTH CAROLINA

ANTENNA CABLE SUPPORT 4 HOLE

ACS-4

B

DRAWING
SHEET

SCALESIZE

C
REVISIONSTATUSVERSION

DOCUMENT NO.

1:2

TITLE

C 2015 CommScope, Inc. Confidential

1

2

5

6 5
5

4

3
5

6


